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The average of a, b and c is 8 less than d. if
the average of a,b,c and d is 42, then what
is the average of (3d-2) and (d+5)?

a, b3 c F1 3Wa d ¥ 8 FH g1 I a,b,c 3R
d &1 3t\d 42 §, ar (3d-2) 3R (d+5) F1 3itHEd

FqT £7
(a) 96.5 (b) 99.5
(c)97.5 (d) 98.5
@ MTS 2020
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While listing N consecutive even numbers
for determining their average, the last
number, by mistake, got replaced by the
next odd number and thereby the average
turned out to be more than the desired
value by 0.0125. What is the value of N?

N FART A WAl F Felldgy Fd AT
3aa1 Jtua AU s F fov, 3w g,
el A, 3Tel A w@Ewr ¥ g It § 3R
39 o¥g Jtud aifdad A ¥ 0.0125 30+ @

SITaT 1 N FT AT F49T §2
(a) 50 (b) 40

MTS 2020

— %0 @ \}91 80 (d) 100



Q,t;.u[h 4 A A person goes from P to Q at a speed of 20
km/h, then he goes form Q to R at a speed

<30 0 Q?D of q km/h, finally the person goes from R
to S at a speed of r km/h. The distance from
Hﬁ & 80\ R ?cj SP to Q, Q to R and R to S are equal. If the

RLJ\) average speed from P to R is 280/11 km/h,

n 233 \ K" and the average speed from Qto S is 112/3

-%:“ | 226 12 :;n /;l‘ﬁt;e;owg;tﬁ}ﬁ?a:; .:?rf r: ¥ Qaw
?? ST gl R ag q FA/aear A AT T QA R
%gﬂliﬂﬁm%lm#mﬁrrﬁnﬁ/wﬁwﬁ#

}.53&:110 RYISTFAAME PEQQARINRAS

U'{)40 ?(b)43.5 gt e g1 I P F R A dwa afa
(c) 42.5 @ (d) 45 280/11 fF#t/ger &, 3R Q & S # 3itwa ofa

112/3 fFHl/ger &, al r &1 AT 4T 8?7



(a) 24,030
(c) 24,600

750 lervo
LI
R Yovo

(b) 25,800

LI 21,000
MTS 2021

In an office with 40 officers, the average
salaries of class-A, class-B and class-C
officers are Rs 600, Rs 750, and Rs 1,000 a
day respectively. The numbers of class-A,
class-B and class-C officers in the office are
in the ratio 5:4:1, respectively. Find the

monthly average salary (in Rs) of an officer,
all the 40 of them taken together. (Assume

the number of days in a month to be 30.)

40 IOFIRAT g FEAET A, TI-A, F94-B 3R
gi-C & FIOFIRAT &1 Hwa aaa FAT: 9
600, 57 760 3t s 1,000 AR ¥ Frfera
A gat-A, F91-B 3R F-C & yfOwRAT fr g
FAA: 5:4:1 F UG H § TH FASR FT
A+ 3Ha daa (F9F A) A ffSw, 394 @
M40 M HF gy RAT o A o & &
e A &Y i wEar 30 gt )




The numbers 2, 3, 4 and S occur (2 + Sk),
?)%k S 7 (5k - 7), 2k - 3) and (k + 2) times,
_| 9 "': respectively. The average of the numbers is

l 3 K é W 2.85. Later on, the number 2 was replaced

20 by 6 in all the S : verage
of the W
¥EAT 2, 3, 4 3 5 FAA: (2 + 5Kk), (5k - 7),
H460K—3% =Y1K

—Bl‘a‘k .

raﬂ:&:+2{mawﬁ%lmnﬂm3ﬁm

fﬂK;gg 2.35%lm#mmwm2@}#m
e aram| 1S wEATAt F AEd FATE?

:2 Q‘{ (a) 2.4

A e e SR

Gos XY

SSC CHSL 05/08/2021 (Shift- 3)



There are 90 students in a hostel. Due to
new admissions, 30 new students join the

E — E"‘Séﬁ__ ,-D mess and the daily expenses of the mess
- increases by Rs. 560. while the average

30 IQD expenditure per head diminishes by Rs. 10,
What was the original daily expenditure (in

e-—seoxz. —_ l O Rs.) of the mess?

36 U SEEE # 90 BTF g1 AT Y3U & FRUT, 30 AT
& T AW & A g § 3K A9 #1 ¢fAw 39 560
E:?,Eooﬂé,&o IIY 9 I ¢l Said gfa gfEa taad =37 10
-':‘9230 9T FA g AT ¢, AW FT AA afaid 4T (T H)

T AT?

(a) 4,980  (b) 4,280
) 5,280  (d) 3,680

SSC CHSL 06/08/2021 (Shift- 2)



There are 3 groups of persons - male, female
and children. There are 20 males and the
number of females and children taken
together is 4 more than that of the males.
The average weight of males is 54 kg, that
of females is 49 kg and that of children is
30 kg. If the average weight of the whole
group is 48.25 kg, then what is the
difference between the number of females
and the number of children?

SfFaal & 3 g ¢ forad 7o, aAfger iR a=?
WA §1 20 Y U1 Afgenat AR T A Feor
HEAT ToNT $ HEAT Y Jore1 A 4 HOF §1 ot &



W 3itaa g 54 &, Afgensit #7149 R iy s==t
30 fram g1 afe Q¥ g 71 3i9d a9 48.25

¥25NY= 10 ” il
‘ 7 ]30{4197,_,[_ e g, ar Afgast i gEar 3R a=ar i T&aT F

QN23= 30(4-2) dr 1 37aw Rrare B2
Io?o-H 172+220 @) 17 ) 14

B 0

SSC CHSL 10/08/2021
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x, y and z are three positive numbers such

@ 5

that y is ~"times of x and z is ~times of y.
5

If the average of reciprocals of the numbers

X, y and z is H, then the average of 3
240

times of x and S times of y will be:

—_ - xyiIRzATUATAF TEAC S UFR E F y, x

IR y & 5 a1 F1 AT ghm:
(a) 60 (b) 45

(s 70 (d) 40

SSC CHSL 10/08/2021 (Shift- 2



The average weight of 30 persons of group

]'_),2.{ A is 3 kg more than the average weight of
=93 S 25 f B. Th ight
e persons of group B. The average weig

30 of 25 persons of group B is 2.5 kg more than
A e C the average weight of 20 persons of group
C. If the total weight of 30 persons of group
Sq ‘S S‘f S SL A is 1725 kg, then what will be the average
weight of the persons of group A and group

2, C taken together (in kg)?
p THE A ¥ 30 aFaal #1 3aa R, §9F B F 25

sqfFadl & 3Had R A 3 fFar A0F 51 THAF B &
'? 25 FAAT 1 FAd 6, TAF C & 20 ATFAA!

3f
@ S—-) { a:aﬂwmﬂz.sﬁwnaﬁa;%laﬂjaa;so

M‘é&?’ (b) 55.1 %33 wﬁ?rq’fa;rgmaa?tlnsﬁm%,a?wAﬁt
(c) SS (d) 55.4 ¥HE C & =aFaal &1 va |y foram o sitea o)




30 people went to a restaurant for a dinner

o4 5% party. 20 of them paid Rs 880 each and
- each of the rest of them paid Rs 110 more

J than the average of the total expenses.
| What was the total expense (in Rs) for the

30 @NT ' RN & AT s Hieaeg A v,
37 ¥ U3 20 880 FUA F AT fhar AR
A 4110 39A q ¥AS o Fo @I & HWT F 110 793
A Q6 0% &1 3T | Ud F @R F FA @ (T
A *
A (a) 27,840  (b) 29,360 ‘
— _ic) 28,050  (d) 24,580 rAY

@ SSC CHSL 12/04/2021 (Shift- 2)
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The average of the numbers a, b, c and d is

KQ"’Q{C-) d) - zd,fq 2d + 4, Also, the averages of the numbers a
"_q_""' and b ; band c ; ¢c and d are 8, 5 and 4,

respectively. If e =a + d - 1, then what is

GH>— | the average of the numbers d and e?
Q:Qd,,qf bdc Iy HEATH a, b, ¢ 3T d &7 3ad 2d + 4 &1 9 @,

d"l Qd-a? HE&ATHT a 31X b; b 3R ¢; ¢ 3R d F71 IHET FAT:
8, 5348l ITe=a+d- 18 argeamsid

C=7 3R e &7 taa T E?

b= @ (a) 3 (b) 8

— (c) 8.5 ;

a Ig _‘_k.’.:? SSC CHSL 13/04/2021 (Shift- 3)




The average weight of some persons in a
group is 72 kg. When 5 persons with
average weight 66.6 kg join and 13 persons
with average weight 75 kg leave the group,
the average weight of the persons in the
group decreases by 1.65 kg. How many
persons were there in the group initially?

UF THE A FG AfFadl 1 3w o1 72 B @
I 3Hd AT 66.6 &aT arer 5 afFad AFAfad

g1 ¢ 3 75 T 3itwa X arer 13 =afFa w9g
BI3 Ad ¢, dI WA F AFadl T FWd HR 1.65
foFaT Fa AT ¢ YR # Fg A fhas safaa 47
(a) 44 (b) 40

Lo 48 (d) 38
SSC CHSL 15/04/2021 (Shift- 1




If the average of the 3-digit numbers
335,2x5,x35,63x and 406 is 411, then what

will be the average of x-1,x~-3,x + 3 and
x+ 57

Iqfg 3-3T Y FEar3t 235, 2x5, x35, 63x AR
o6 vil NA-">)
A2 F a8y, A xrl,x v 3amx+ §

& Hd FT 8P )
(a) 6 (b) 4

(c) 3 ) 5

SSC CHSL 16/04/2021 (Shift- 2)
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The average weight of some students in a
group is 58kg. If 8 students of average
weight 54kg leave the group, and 3
students weighing 53.6kg, S4kg and 57.4kg
join the group, then the average weight of
the remaining students in the group will
increase by 575g. The number of students,
initially, in the group is:

U §HE A $6 OEl $1 30d aoia 58 fFar g1 g
54 f¥am 3wa a9 ¥ 8 BTF WHE BIs ad o, AN
53.6 &1, 54 AT auT 57.4 &A1 I a3
B FHE # WA 81 1 &, A THg # A9 SET F1
3T IS 575 AH q¢ S| IR H, §Ag A

(a) 40 ) 45

(c) 35 (d) 50

SSC CHSL 19/04/2021 (Shift- 1)
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The average monthly expenditure of a
family for the first four months is Rs
13,750, for the next three months is Rs
11,750 and for the last five months is Rs
31,750. If the family saves Rs 15,550
during the whole year, find the average
monthly income of the family during the
year. (Consider integral part only)

U IRAR & 3i9d ATRA® @9 9ga IR A=l &
faT 13,750 T u 3o AT AT F AT 11,750
¢ 3R 3faw grg #9aT F T 31,750 1 I aRawr
QX a¥ & gRIT 15,550 TIF AT T9d F@T g Al W
a¥ & g 9RarR &1 dtaa T AT HL

(RFeasn quifs #)
(a) Rs 21, 055 AT Rs 22, 045
(c) Rs 22, 000 (d) Rs 23, 040

CHSL 2021



Two grandparents, two parents, and three
grandchildren make wup a family. The
average present age of the grandparents is
67 years, that of the parents is 35 years and
that of the grandchildren is 6 years. What
is the present age of the family (in years)?

&l grgr-grar, ar Arar-far 3R s aa-afaat &1 o+
IRER & g7 - gRl AT adAE W AT 67 TV,
ATT-Aar Y gdAe 3dEd g 35 a¥ IR 9a-
ofaat i adAer JdEa I 6 a¥ § IRAR H

qaATe Ata 3y (Fut A) FAT P
4 2

@ €312 (@27

7



The average of the four numbers, given in a
particular order, is 48. The average of the
first three numbers is 42, while the average
of the last three numbers is 50. What is the
average of the first and the last numbers?

s Ay A A @ 7% IR FEAH F7 AW 48 g
Ugall diel &t #1 AT 42 g Fafw dfaw d=
FEA3T FT1 AW so g1 ggent IR AT eIt

&1 3t\a A a ST
(a) 56 (b) 53
(c) 55 Jdf 54

@ CHSL 2021



The following table represents the
weightage of different decision features of
an automobile. With the help of this
information, calculate the weighted
average.

e arfersr o 3meAEEa 1 [ @o
giawat f1 e AT w81 59 guear f

FeradT ¥ HIRA 3itaa & aoEar fifae
Features Mtage
324k 2 5o gSafetylHﬁW 8/10 40%
——
Comfort/ 3IRNH -6/10 20%

|‘B Fuel Mileage / $Tef &1 - 5/10  30%

0'6?‘ Exterior looks/ 9Tl ¥T - 8/10 10%
0.67 (b) 0.76

(c) 0.5 (d) 0.57 CHSL 2021
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The average of the natural numbers
’A’ divisible by 5 from the integers -10 to 35
C\ is:

..-lD} : ¥ q'U'I‘ﬁ'T . ,
Nafwh 10 & 35 & & A1 5 & R srgper quites wrgansi
4" &1 3itwa T4 Qe

) 20 (b) -13.88
_V_"_‘_"El_":_ Vf 15 (d) 17.5
O)')'Zr" ' S |© \SZS' 30 3(

e
Jule, ® e

#gj-z,-l;ofrl‘!



A is the average marks of a group of 10
[ e |b'A '3 students in a class and A+8 is the average
—

— —— of a group of 15 students which includes
\1 B)B the group of 10 students as given. The total
marks obtained by the group of 10 students
3 is X and the total marks obtained by the
A - :’1 group of 15 studentsis Y. If X: Y ='“/3:5, then

y :m the value of A+X+Y is
:':\)0 wmﬁmma‘wma‘»aﬁmm%aﬁtms
15 B ¥ ¥Hg 1 3w ¢ 9wd e v 10 83
C FT §Hg A AR §1 10 BT F FHg @R e fFo
AT Fel FF X ¢, AN 15 BH @RI gred o aw

(a) 2012 (b) 1964 ; .

CHSL 2021 [EcI 2




In a company there are only two types of

A *g ovO employees, workers and officers. 35% of
the employees are officers and the average
‘R monthly salary of an officers is Rs 39, 000
more than the combined average monthly
I ’5_——5 3qm'§7alary of an employee. What is the
difference between the average monthly

salaries of an officer and a worker?

TS HY«T A g IR & HAGRI gy HAs 3R
gc\ -__(__ HAERN| 35% FATRT AAHR ¢ A TH AASHT
V0T R0000) il it o o bt & e s
6‘ AA® a0 ¥ 399000 T IO+ g1 TF WS
e AR F FATA & IAd ARG dda & dT AW
AT HY
Rs 60, 000 (b) Rs 52, 650
(c) Rs 64, 350 (d) Rs 50, 700

CHSL 2021
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(a) 32%
(C’ 28%

(b) 30%'%'\’S

,-'W
O

35% E E!

In a company, there are only two types of
employees: workers and officers. The
average monthly salary of an officer is Rs
78,000 more than the combined average
monthly salary of an employee, while the
combined average monthly salary of an
employee is Rs 42,000 more than the
average monthly salary of a worker. What
percentage of all the employees are

officers?

TF H9l Hu Hdd g TSR & FAIRY &: A+ iR
FOFIY #1 3itwa A1 a0 vF FAIN F YT
taa A1f@s daa & 78,000 TOF 3OF g FafF
TH FAURI FT §IFd AT AAF Iq4 0F HAS
& g A% aaa & 42,000 T F1F g1 T
FHARET FT fHder gfaera sfsrT &



The average weight of a group of 3 people
A, Band Cis 70 kg. When D joins this group,
the average becomes 60 kg. One-man E,
whose weight is 5 kg more than that of D,
replaces A and The Average weight of B, C,
D and E now becomes 59 kg. A’s weight (in
kg) is?

3 =fFadl A, B 3 C & §Hg &7 3¥d Toie 70

frat &1 @ D 5@ W # wifdw gy §, ot stwa
60 e & STar §, U gfed E, S| aaa D
$Y Torr & 5 et 30 ¢, A F wfaeia Fyar
¢ 3k B, C, D, 3iX E &1 3it9d aoia 39 59 fFal

& ST 81 A F7 g (FFer #) &
39 (b) 40
(c) 30 (d) 35
SSC CPO 23 November 2020



What is the ratio of the average of the first

eight prime numbers to the average of the
first ten even natural numbers?

UUH S AT TEAT & AHd FT 997 cH

w9 IHfas FEast F Awa ¥ IHeqaa Aa e
) 1477
(b) 7 : 80
(c)8:70

SSC CGL 16/08/2021(Shift 02




The average of eleven numbers is 56. The

_ average of first three numbers is 52 and
+'17(3 L'y s that of next five numbers is 60. The 9th and
‘_@ 10th number are 3 and 1 more than the

- 11th number respectively. What is the

56*3.: ‘G? average of 9th and 11th numbers?

— § TRE @EA3t F HWT 56 g1 g dleT qEATIH
leomaﬂaaszﬁmmmmsﬁmaﬁm

60 g1 94t 3ix 10dt weae 114t ¥&ar & FAT:

X

A 2| T =60 3 3k 1 3fs ¥ odt 3k 114t wewr = twa
3 =S4 s @
N=F 2 (b) 52
(c) 52.5

SSC CGL 13/08/2021(Shift-03)




Yo Yo The average weight of students of section A

A 8 and B having 40 students each is 45.5 kg
and 44.2 kg respectively. Two students of
|- %X "]55' Yy.2 section A having average weight 48.75 kg

were shifted to section B and 2 students of
section B were shifted to section A, making

i -+91.
l13‘:]'57‘2 "‘]:I- s the average weight of both the sections
— 7.5 —X equal. What is the average weight (in kg) of
xvy the students who were shifted from section
o section A? C (—(‘s\ &.uﬁ)g

52-3‘-}37{_')( 97.5-2 maﬂ*&)ﬂs"j‘mﬂ’rmaﬁaﬁm ECCR GE]
ﬁ4om%aﬂm 45.5 fFalaH 3R 44.2

g 1"“‘43 e §1 @3 A & & Sl 1 A9d a9 48.75

Q‘% e 91, 37¢ @3S B # TUEIGRT # f&ar



fFeame 91, 378 @S B # TUAGRT HT f&ar
I @S BF 2 BEI & @ AH TIEART T
& a3, 9ed Q= @3 F1 3 a9 W @
TAT| A @S B @S A A TR T T &l
&1 3taa aoa (Feema &) faar g2

(a) 34.5
.Bé_ (b) 35
v Lhe) 35.75_
(d) 34.25

SSC CGL 23/08/2021(Shift-02
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The average of 52, 71, 43, 22, a, and b is 55
and the average of 42, 45, 49, 51, 42, ¢, and

d is 53. What is the average of a, b, ¢, and
d?

Mb=3%-188 52,71, 43,22, a, 31K b @7 3itwa 55 ¥ 3k 42,
UL "‘,.l_;_?'-ﬂ'l 45, 49, 51, 42, c, 3R d F1 3¥a 53 Bl a, b,
c, IR d &1 3twa Far 8P
CH =\Y2=?  (a)54.7

T o7
(c) 54

@ (d) 142
SSC CGL 11.04.2022 (3rd Shift)
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Ras Bihari, a plumber, earned on an average

X925 per day in the month of January. He
earned on an average I881 per day during

the first 20 days and I915 per day during
the last 20 days. What was his average

income (in X) per day from l2th January to

20th Januag?
U&F Toal W gl a8 & A & 3itwad

925 39y yfafesd FATAT 41| 9§ 8o 20 &A1 &
gher ufd @ 3itwasr 881 Tud 3k Mwer 20

=t & e ufd e 915 T9 FAMET &1 12
Fall ¥ 20 A9 % via e 35 twa 3

(9T A) Far 4P

(a) 875
(b) 792

Ac1805

TIR-0 VS SC CGL 21.04.2022 (3rd Shift)

SSC CGL 21.04.2022 (3rd Shift)



Average age of 7 students of a class is 28
years. Average age of first three students
is 30 years. Age of fourth student is 4
years less than the age of fifth student.
Ages of last two students is same and is 5
more than the average age of first three
students. What is the average age of fourth

and fifth studeqt?
wmtifma‘reﬁaﬂmmrgzaaﬁ%l TUH

dier @l #r Jted 3y 30 a¥ g =9 e A
Y qrEa B T Y § 4 9§ FA §) AAH QA
BHEl HT A FAE § TUT 99A7 i SHET H
dtaa g & 5 af A g1 9 qur 9d o
# stwa Iy frae 32

U{a]"18 years (c) 20 years

(b) 16 years (d) 36 years



The average weight of some members
of a club is 70 kg. If 15 members with

/ } an average weight of 60 kg join the

1’6 — / ng/ club or 5 members with an average
weight of 90 kg leave the club, then

(-n'H 5) 6)—-5’) the average weight of members in both

cases is equal. How many members
N=Ys e there in the club initially?

mﬂ:g—aaa?u’faﬂaﬁ'aamm
frar 81 I 60 fFam & 3twa a=e arer 15

(_)arl’ﬁ GET Foid A fAer g1 § a1 90 fFam &
(b) SO IHAd g9 a5 EET Fold SIS ad g, al
:;')iz gl Rufaay & dgEa &1 Aud a9 S e

SSC PHASE IX 2022ciic e i sl e oo i e



The average weight of some children in
a group is 43 kg. If 4 children, whose
weights are 49.2 kg, 48.8 kg, 51.4 kg
and 50.6 kg, join the group, the
average weight of all the children now
increases by 1/2 kg. The number of
children, initially, in the group is:

UF WA A FO dedl F IFET AR 43 fFan
gl g 4 T=3 SaeT HR 49.2 &, 48.8

f&am, 51.4 f&am 3R 50.6 fFam @, woF &

aiFafaa g ST §, ar a@sft a=ar &1 dtea

W 3T 1/2 fFam 95 ST §1 IRE A T
# T=ar $r o« gEar g?

(a) 54 (c) 56

O R BlSSC PHASE IX 2022



